111k

(LTI Linux(DTTTTTTTIIITIT] Jtest [I] /test/1[] /test/2 [I]] /test

OO T T T T T I T T T

O T T T T T T

(LTI /O]

(L1111

bgadd /test[TH 1]
bsub -g /test(}#[] bsubITTTTTTIITIIITITIITIIIIT

(ITIT]

bjgroup /testTE T

(ITIT]

bgdel /testTHITTTTIITIITTTITTITT

bjobs -g /testTHATTIIIIT]
bkill -g /test OOFTTITITIIIT]



(IITI1h indexList = start[-end[:step]] ITITITIIITIIITH
(T %l 0 %0 %! I %) 11
[T IITTTTT LSB_JOBINDEX

bsub -J "myArray[1-10]" myJob[THIIT] 10[ITI11

bsub -J "myArray[1-10]1" -i "input.%lI" -0 "output.%!" myJobTE T
bkill 123[1]HI] jobid 0 1231111

bkill 123[1H# jobid 0 1230110

O T T T T T

O T T T T T T

0 1 CPU

ARERNRERNRNRNRNNNARARNRNRNRNRNRNRRRRRARRAEE

ARERNRNRNRNRNRNRNRNARERRRRREREEY

ATTTITTTTIITTTIT] X5650[TTTITTT



$ cat job.lsf

#BSUB -q x5650
Ja.out >& 1.out
Ja.out >& 2.out
Ja.out >& 3.out

Ja.out >& 4.out

$ bsub < job.Isf
Job <3366369> is submitted to queue <x5650>.

[ NO CPULTII N[ITTTT] NLITTTTT] CPU

12T x5650[ITIIIIT]

$ cat job.Isf

#BSUB -q x5650
#BSUB -n 12

(./a.out >& 1l.out )&
(./a.out >& 2.out )&
(./a.out >& 3.out )&
(./a.out >& 4.out )&
(./a.out >& 5.out )&
(./a.out >& 6.out )&
(./a.out >& 7.out )&
(./a.out >& 8.out )&
(./a.out >& 9.out )&
(./a.out >& 10.0out )&
(./a.out >& 11.out )&
(./a.out >& 12.out)

wait

$ bsub < job.Isf
Job <3366370> is submitted to queue <x5650>.
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